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SECTION A

QUESTION 1

{a}  Name and briefly discuss the TWQO methods through which an ongtnal nght of ownership
may be established (5)

(b)  Mention and discuss FIVE circumstances under which an offer may fail away  (10)

(c) Joe borrows R10 000 from Nick They agree that Joe will repay the money In five
instalments over the following five months At the end of the first month Joe gives Nick
R2 000 but refuses to pay any of the other instalments

)] Indicate the pericd of prescription in respect of this debt (1)
(n List only FIVE ways in which a personal nght may be terminated (5)

(d)  Bnefly explain the following
() Legal capacity (2)
(n) Capactty to act (2)

(e)  Sandy and John conclude a contract of sale of a home theatre system for R5 000 They
agree that John will pay a deposit of R2 000 and instalments of R500 at the end of each
month untii the full amount has been paid Two months after the conclusion of the
contract John and Sandy marry in community of property

Briefly explain in which way was John's debt to Sandy extinguished? (5)

(30}
QUESTION 2

Indicate whether the following statements are TRUE or FALSE Give reasons for your
answers In each case

(a)  The Constitution sets out guidelines for nterpreting statutes (3)
(b) A mnor under the age of seven years has limited capacity to act (3)




QUESTION 3
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Match column B with column A, For example: (a) - 31 Answer questions (a) - (d).

COLUMN A

COLUMN B

(@) Personality Right

3 1 Servitude on land

(b) Intellectual Property Right

3 2 Dignity

(c}) Personal Right

3 3 Invention

(d) Real Right

3 4 Contract

(4)
SECTION A: TOTAL [40]

TURN THE PAGE FOR SECTION B
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SECTION B

QUESTION 1

Which ONE of the foltowing legal systems 1s the basis of the South Afncan legal system?

1 Roman-Dutch law

2 Roman law

3 Enghsh law

4 Dutch law (2)
QUESTION 2

Consider the following statements

The Supreme Court of Appeal in Bloemfontein is a court of appeal for all matters which
falt within the junsdiction of the High Court

A case relating to the interpretation of a will may be heard by a magistrate’s court.

High Courts may not hear any constitutional matters that arise in their geographical areas
of junsdiction

The Constitutional Court has the final say in all matters relating to the interpretation,
protection and enforcement of the provisions of the Constitution

Which of the above statements are INCORRECT?

1 A,BandC

2 BandC

3 Band D

4 CandD (2)
QUESTION 3

Tanya buys Joe’s house and pays the full purchase price Tanya acquires ownership of the
house on

2

conclusion of the contract of sale
payment of the full purchase price
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3 registration of the transfer at a deed office
4 cccupation of the house {2)
QUESTION 4

Pat wishes to grant Hlomla a usufruct to live in Pat’'s house The parties are not sure of the law
regarding usufruct

Which ONE of the following statements 1s INCORRECT"?

Hiomla would have the nght to let the house If he had to move to another province

2 Hlomla 1s entitted to demolish one wing of the house and instali a swimming pool in that
area

Hiomla 1s not allowed to sell his usufruct to Riaan

4 Pat can grant Hiomla a usufruct to last until Hlomia graduates from university in four
years’ time (2)
QUESTION 5

Mary and Susan entered into an oral contract Mary wanted a motorbike for her son and was
under the impression that they had entered into a contract of sale for a motorbilke Susan
however was under the impression that a contract of lease for the motorbrike had been
concluded Mary approaches you for advice regarding the validity of the contract

Which ONE of the following statements 1is CORRECT?

1 The contract 1s vahd because both Mary and Susan had the intention to be contractually
bound

The contract s valid in all matenal respects because there was offer and acceptance
The contract I1s void because there was no consensus between Mary and Susan
The contract 1s voidable because the parties can rectify the contract (@)
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QUESTION 6

Thami and Sabelo arrange telephonically to meet at a coffee shop at 10h00 the next day

Which ONE of the following statements 1s CORRECT?

A contract anses as consensus exists

2 No contract anses as Thami and Sabelo have no intention to be iegally bound

3 A contract has come about as a common intention exists and it has been made known
to the other party

4 No contract anses as nothing was put in writing {2)

QUESTION 7

At an auction of vintage motor cars the conditions of sale expressly provide that the auction 1s
held subject to reservation Kgomotso makes a bid of R30 000 on a vehicle of which the reserve
price 1s R50 000

Which ONE of the following statements 1s CORRECT?

1 Kgomotso made a valid offer which the auctioneer 1s obhged to accept because 1t was
the highest bid
2 kgomotso made a valid offer which the auctioneer can accept or reject regardiess of

whether it 1s the highest bid
A valid contract came into existence when kgomotso accepted the auctioneer's offer

4 Kgomotso's bid of R30 000 constitutes acceptance of the offer which the auctioneer
made to accept the highest bid (2)
QUESTION 8

In which ONE of the following situations does consensus NOT exist?

1 Romeo, the seller, tells the purchaser that he ts buying a 2016 model car, while it is In
fact a 2014 model

2 Romeo, the seller, does not know whether the purchaser i1s Jonathan Lee or his brother
Johnny Lee

3 Surgeon Mbatha convinces his patient, a very sick Menzi, shortly before Menzi 1s to

undergo an operation, to sell ths car cheaply to him
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4 Romeo persuades Bheki at gun point to sell im his 2009 model Enzo car for R5000,
although it is worth R50 000 (2)
QUESTION 9

Lesiba and Dorothy marned out of community of property on 1 November 1999

Which ONE of the following statements is CORRECT?

Lesiba and Dorothy have a joint estate
Lesiba and Dorothy both lose therr full capacity to act on marnage

Lesiba and Dorothy are jointly and severally hable to third parties for debts incurred for
necessaries for the common household

Dorothy has to give her consent for the sale of a farm which belongs to Lesiba  (2)

QUESTION 10

Which ONE of the foliowing agreements 1s lawful?

1 A contract which 1s unreasonable or unjust

2 A contract which 1s against pubiic policy

3 A contract which 1s contrary to good morals

4 A contract which 1s contrary to a statute (2)
QUESTION 11

Which ONE of the options provided beiow will complete the following sentence CORRECTLY?

Compliance with formalites 1s a requirement for the valdity of

all contracts
all wntten contracts
only those contracts where legisiation prescnbes formalties

only those contracts where formalities are prescribed by legislation or the contracting
parties. (2)
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QUESTION 12

Moses undertakes to buy Xolile a new truck one month after Simon’s death has occurred

Which ONE of the following statements is CORRECT?

The moment for performance cannot be determined since it 1s uncertain when Simon will
die

2 A contractual relationship between Moses and Xolle anses and neither of them may
rescind the contract

3 This 1s an example of a resolutive time clause since the contractuat obligation only has
effect until the occurrence of a certain event

4 This 15 an example of a suspensive condrion since the contractual obligations are
suspended until the condition 1s fulfilled (2)

QUESTION 13

Kagiso and Thabo agree that Kagiso will transport five head of cattle to Zuurbekom for Thabo,
provided that Kagiso can arrange to borrow Lesego’s truck for two days The proviso that
Kagiso must be able to borrow the truck for two days is known as a

1 modus

2 resolutive time clause

3 suspensive condition

4 warranty ()
QUESTION 14

A term in a contract which allows a party to retain the performance of the other party when the
contract 1s cancelled due to breach of contract, 1s known as a

W N -

forfeiture clause

rouwgeld clause

penaity clause

condttion (2)
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QUESTION 15

Bongi and Mpho conclude a written contract for the sale of a three-piece cutlery set At a later
stage, Mpho discovers that he accidentally wrote, “a four-ptece cutlery set”

Which ONE of the foliowing statements 1s CORRECT?

The contract between the parties 1s void for uncertainty
2 Mpho can apply for the rectification of the contract

Mpho will have to deliver a four-piece cutlery set because the parol evidence rule
precludes him from relying on the intended contract

4 Mpho will have to deliver a four-piece cutlery set because the mistake occurred as a
result of his negligence (2)

QUESTION 16

Ricky and Ross enter into a contract in terms of which Ross has to deliver a dozen bottles of
export wine to Ricky Ricky has already paid the purchase price Ross now indicates that he
does not intend to perform In terms of the contract

Which ONE of the following types of breach of contract has Ross committed?

1 Prevention of performance

2 Positive malperformance

3 Mora debitoris

4 Repudiation (2)
QUESTION 17

Which ONE of the following statements is CORRECT?

A debtor commits breach of contract in the form of default (mora debstors) if he or she

1 has tendered defective or improper performance

2 has delayed performance
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3 has rendered performance impossible
4 has indicated that performance will not take place as arranged (2)
QUESTION 18
Which ONE of the following statements 1s CORRECT?
1 Compensation for pain and suffering can be claimed on the basis of contract where 1t 1s
the direct result of the breach of contract
2 Cancellation of a contract 1s a normal remedy which I1s always available to contracting
parhies
3 An order for specific performance is a court order which commands a contracting party
to render the performance he or she has undertaken to render
4 Damages calculated according to the creditor’'s negative interest places him or her in the
same patnmonial position tn which he or she would have been had proper and timeous
performance taken place (2)

QUESTION 19

In which ONE of the following instances will damages be clamed according to the innocent
party's positive Interest?

duress
undue influence
breach of contract

B o R S

misrepresentation (2)
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QUESTION 20

Which ONE of the following 1s a consequence of cession?

1 The claim 1s transferred to the cessionary in its entirety together with benefits such as
Interest

2 The right forms part of the patrimony of the cessionary and of the cedent
The cessionary recelves the claim without the disadvantages attached to it
4 Both the cessionary and the cedent have the rnight to collect the debt (2)

SECTION B: TOTAL [40]
TOTAL.: [80]
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